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QUESTION 1

Which settings are required on ArubaOS switches for Aruba AirWave to discover monitor, and manage them?
A. shared cluster key and an SNMP v2 community or v3 user

B. SNMP v2 community or v3 user and an HTTPS certificate

C. credentials for Telnet or SSH login and an SNMP v2 community or v3 user

D. credentials for Telnet or SSH login and an HTTPS certificate

Correct Answer: A

QUESTION 2

A network administrator configures LLDP-MAD on an Aruba Virtual Switching Framework (VSF) fabric The administrator
needs to enter an SNMP community string after v2c in this command: Swich(config)# vsf lldp-mad ipv4 10.1.0.2 v2c

Which SNMP community string should the administrator enter?
A. one configured for the VSF fabric on AirwWave.

B. one configured on the device at 10.1.0.2.

C. one configured on the standby member in the fabric.

D. one configured on the VSF fabric as a whole.

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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The Virtual Switching Framework (VSF) fabric and other switches connect on LACP link aggregations.
They use OSPF for routing.

What should a network administrator do to help network connectivity continue uninterrupted if the
commander fails?

A. Install a standby management module in the standby member.

B. Enable OSPF graceful restart (non-stop OSPF) on the VSF fabric.

C. Configure LLDP-MAD on the VSF fabric.

D. Configure a unique OSPF router ID on the standby member OOBNI port.

Correct Answer: A

QUESTION 4

Which devices must support Multi-User Multiple Input Multiple Output (ML) MIMO) in order for an AP to transmit to
multiple clients simultaneously?

A. all of the APs in a WLAN, but none of the clients

B. the transmitting AP and at least one of the clients that receives simultaneous transmissions
C. the transmitting AP and all of the clients

D. the transmitting AP and all of the clients that receive simultaneous transmissions

Correct Answer: A
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QUESTION 5

Refer to the exhibit.
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An Aruba Instant cluster is added in Aruba AirWave. A network administrator needs to change the cluster management
level to Manage Read/Write. The exhibit shows the current status for the cluster. What should the administrator do
before changing the management level?

A. Determine why AirWave cannot contact the cluster and resolve any connectivity issues in the network.

B. Check the cluster SNMP credentials and resolve the mismatch between the cluster credentials and AirWave
credentials.

C. Investigate why the cluster configuration does not match the group configuration template and resolve any issues.

D. Verify that the cluster is configured with the same shared key that is configured in the global AirWave settings.

Correct Answer: D
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